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Express each percent as a reduced fraction.

1%:11ﬁ 100% = 1 50% = 2 70% = 5 20% =
150% =1 665% = 2 5%:21—0 12%—00:%— 90%:%
25% = 1 2% = g5 10% = 45 331% = % 4% =
40% = 2 162% = | 75% =3 30% = = 80% = 2
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Course 3

A 10-foot long 1 x 6 is long enough. With a calculator we can
find that the diagonal (hypotenuse) is less than116 inches, which
Is less than 10 feet (120 in.). Without a calculator we find that a
10-foot diagonal from an 8-foot (96 in.) wall will reach 6 feet (72
In.). However, the diagonal only needs to reach 64 inches, so
al0-foot board is more than long enough.

0 20. x=-3 Ot it
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0 22. a. y= ;x—1

x> -4 b. y=-2x+4
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Written Practice continued

y

25. a. » B

D’ c’

b. A'(-8,8), B8, 8), C'(8, -8), and D'(-8, -8)
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